COP 3223 Section 1 Exam #1

Form A

Spring 2004 

2/19/04

Lecturer: Arup Guha

Last Name: _______________

First Name: _______________

PID: _____________________

Directions: Answer all multiple choice questions on the scantron. Each question has a single correct answer. In case of ambiguities, choose the most accurate answer. Each of these questions is worth 3 points for a correct answer. Incorrect answers and questions left blank are worth 0 points. This portion of the exam is closed book. You must turn in this exam and your scantron after the first 45 minutes of the exam. (This time will be announced in class.) You may start working on the second portion of the exam right after you turn in this multiple choice part, but you will not be able to use your textbook until all students have submitted the scantron portion of the exam.

1. To what does the following arithmetic expression evaluate?



10+(16-8/3)/4.0-18%11

a) 6

b) 6.25

c) 6.5

d) 7

e) none of the above

2. To what does the following (boolean) expression evaluate assuming that x=4 and y=7?



((x > 0) || (y != 7)) && (2*x != y)

a) 0

b) 1

c) 2

d) 11

e) none of the above

3. To what does the following expression evaluate assuming that x=3 and y=9?



(x = y) && (y != 0)

a) 0

b) 1

c) 3

d) 9

e) none of the above

4. Which of the following statements prints out the following: Hello\"Bye".
a) printf("Hello\"Bye".);

b) printf("Hello\\"Bye".);

c) printf("Hello\\\"Bye\"\.);

d) printf("Hello\\\"Bye\".");

e) none of the above.

5. Which of the following statements reads an integer into an integer variable num?

a) scanf(num);

b) scanf("%num");

c) scanf("%d", num);

d) scanf("%lf", num);

e) none of the above.

6. Which of the following is a valid variable name?

a) if

b) then

c) while

d) do

e) none of the above

7. If addition and subtraction had a higher precedence than multiplication and division, what would the value of the following expression be?



3 + 4*5 – 3/3 + 4/2

a) 1

b) 6

c) 24

d) 36

e) none of the above

8. What would be the output of the following segment of code, assuming that x = 5 and the y=3 right before the code segment executes?



if ((x < 6) || (y == 4))




printf("One");



else if ((x > 0) && (y == 3))




printf("Two");



else




printf("Three");

a) One

b) Two

c) Three

d) OneTwo

e) none of the above

9. What would be the output of the following segment of code?



for (i=2; i<10; i++)




printf("%d ", i-2);



printf("%d", i-2);

a) –1 0 1 2 3 4 5 6 7 8 

b) 0 1 2 3 4 5 6 7 

c) 0 1 2 3 4 5 6 7 8 

d) 1 2 3 4 5 6 7 8 

e) none of the above

10. What would be the output of the following segment of code?

for (i=2; i<10; i++);




printf("%d ", i-2);



printf("%d", i-2);

a) –1 0 1 2 3 4 5 6 7 8 

b) 0 1

c) 8 8 

d) 8 9 

e) none of the above

11. What would be the output of the following segment of code assuming that y=5 right before the code segment executes?



if (y > 7)




printf("One");




printf("Two");




printf("Three");

a) 

b) One

c) OneTwoThree

d) TwoThree

e) none of the above

12. What would be the output of the following code segment assuming that x=10 and y=15 right before the code segment executes?



if (x >= 10)




if (y < 15)





printf("One");



else




printf("Two");



printf("Three");

a) One

b) Two

c) Three

d) OneThree

e) none of the above

13. What would be the output of the following code segment assuming that x=7 right before the code segment executes?



if (x = 3)





printf("%d",x);



else




printf("%d",x+2);

a) 3

b) 5

c) 7

d) 9

e) none of the above

14. How many times is the word Hello printed by the following segment of code?



for (i=0; i<10; i++) {




for (j=1; j<100; j++) {





printf("Hello\n");





if (j%6 == 0)






break;




}




printf("Hello\n");



}

a) 6

b) 60

c) 70

d) 1000

e) none of the above

15. How many times is the word Hello printed by the following segment of code?



for (i=0; i<100; i++) {




printf("Hello");




if (i == 50)





continue;




printf("Hello");



}

a) 100

b) 150

c) 199

d) 200

e) none of the above

Please use the program below to answer the following two questions.

#include <stdio.h>

int f(int a, int b);

int main() {

  int a = 3, b = 7;

  b = f(b,a);

  printf("a=%d, b=%d\n",a,b);

  return 0;

}

int f(int a, int b) {

  b = a;

  a = 6*b - 4;

  printf("a=%d, b=%d\n",a,b);

  return a-b;

}

16. What is the first line of output produced when this program executes?

a) a=3, b=7

b) a=14, b=3

c) a=38, b=7

d) a=7, b=38

e) none of the above

17. What is the second line of output produced when this program executes?

a) a=3, b=7

b) a=7, b=3

c) a=31, b=3

d) a=3, b=31

e) none of the above

18. Which of the following expressions evaluates to 4.0?

a) sqrt(pow(2,4))

b) pow(sqrt(4),4)

c) pow(sqrt(2),2)

d) pow(sqrt(8),2)

e) none of the above

19. Which of the following expressions is guaranteed to be in between 10 and 20, inclusive?

a) rand()%20

b) 9 + rand()%10

c) 10 + rand()%20

d) 20 + rand()%10

e) none of the above

20. Which person in the following group is a teaching assistant for COP 3223 at UCF this semester?

a) Tom Cruise


b) John Kerry

c) George W. Bush

d) Erin Hastings

e) Julia Stiles

Specifications for math.h and stdlib.h functions

// Returns the square root of x, provided x is nonnegative. 

// A domain error occurs if x is negative.

double sqrt(double x);

// Returns x raised to the y power. A domain error occurs 

// if x is negative and y is not an integer.

double pow(double x, double y);

// Each call generates an integer and returns it. Repeated

// calls generate what appears to be a randomly distributed

// sequence of integers in the interval [0, RAND_MAX].

int rand(void);

Spring 2004 COP 3223 Section 1 

Exam 1 Answer Sheet FORM A

Name : ___________________

PID: _____________________

21) (20 pts) Write a program that computes and prints out the cost of buying a certain number of t-shirts. The t-shirts cost $10.00 a piece, but the percent tax for a purchase depends upon the total number of shirts bought. The following chart shows each of the tax rates based upon the number of shirts bought:

	Number of shirts bought
	percent tax

	1 - 10
	10%

	11 - 20
	8%

	more than 20
	6%


(For example, 20 t-shirts would cost $212.00, since they are taxed at 6%.) A code skeleton has been provided for you below. Your program should print out the total cost of the t-shirts. Declare any extra variables you need at the beginning of main.

#include <stdio.h>

#define ITEM_PRICE 10.00

int main(void) {

  int num_items;

  printf("Enter the number of t-shirts bought.\n");

  scanf("%d", &num_items;

  return 0;

}
22) (20 pts) Write a function below that takes in one integer parameter n and prints out a forward diagonal slash in n lines using *'s. You may assume that n is positive. An example of the shape of the slash for n=4 is provided below. (Note: Please do NOT use a scanf at all in this function.)

*

 *

  *

   *

void print_slash(int n) {

}
